Word Problem- Array- Number Sentence Choice Activity

I have 3 packets of 10 buns. How many buns do I have altogether?

There are 5 pairs of socks. How many individual socks are there?

10 friends go to a teddy bears picnic. They each bring with them 2 teddy bears.
How many teddy bears are at the teddy bear’s picnic?

T've eaten my share of sweets and I have 25 sweets left which I give to my 5 friends.
How many sweets do they get each?

There are 50 apples on the tree. They are shared between 10 houses. How many apples
does each house get?

The cake shop has 20 cakes split equally into 5 different flavours. How many of each
flavour cake does the cake shop have?



